EARAROBREBRT —5 XN—ZXBISH—F

202318278 (&) 17EXH5H

I > %%

c3——=—

\(9&1@1 n ‘[%EH%F&] ~ | 5 1000 &

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
to4 | KEEZ 1:15.4 9-9 38.9| - 1 447 | BHEEL (V)
T2 Xy o oo 5.0 = w) | @) meEs
RFRF B:oO—-N—F4k HTEARE
~ t7 | BiEE 1:15.4 1414 [38.2| — | 12 | 472 |FEEE KH)
218|15| 7ROE—UFY %53.0 79%) (2 |ZTSYFRRIAVE @)
REVFOVY B:7EY—F F——- I\ - T7—LERR
S B . _ _ =
3lgl16| *ATVEY PR it 6 5@4.01& 1.(115).6 3-3 40.0 7 (4+722) ﬁg;ﬁﬂl(d_\ffg)&_’m%
R:xAIZT7—R B:A—TaIv2R /0]
B[ crrrzess € || gbe | e [me| - || [TEmEaw
RAR—KT 7Y B:OCPILT2TU— R RS
51101 F—5 i 6 SULJlIIl%%ﬁJii 1(:15.)7 13-12 [38.7] - 14 | 499 %gﬁ%g (11v#4)
. JE RS
RO—IZA YA BRARF Uy [T~ @0 | g
> [ 4 6 | TOHES 1:15.8 8-8 39.6| — 5 554 | BEEZ (KH)
6 7 Zl\{/?‘/\ﬂ 7\- . 56.0 (3/4) (117) |EEEE
RiIvRIDIA B:IUVYFHAIIR BRER 5
N K . _ — = K
7|s|s | nozearu- eoleme o | e el o e g,
R:/ITURS B:F4D92EUY DS
817114 BRI/ VT i 6 | BliEn e 22 405 - | 6 (4_53 BRI (o)
RJYTURL B:PALUYRTH—h NIVERTP—L
=z - & : - - =
9 g| TSV r— i 4 gg%n_?é (1}_;1;;) 12-13 | 39.2 10 (4_078) Kggggi ()
RINMVTSY BRRI—EAL—Y e
. ¢ BER : s - 5 =
N : AESEIZasBI i o6 i{fs_%ic 1.(18.3 10-11 | 39.8 13 (5_05(; gﬁgg H)
RiPISANIVR B:ZRIY3—H— B s
1 . MESASEdIE Sy o4 | GHEX (12116/28) -1 |43 - |9 (4315; EE?&E x#)
RHYIrI9— #:I-ILRIUFV J—LRT7—L
S5 8 | GER 1:17.2 16-15  [39.2| — 11 | 52 |RERS OH)
25| XIFF o %.0 @ (o) | REEH
RFIALNSRY IR B:TavRYJINF KRS
— ETES s 4 | HFEY 1:17.5 7-6 fns| - 4 456 | ILfefR (KH)
13|7[13 F-TAFYSEY ) 5.0 a1 (5 | EAEES
RIE-UR BASAYRAVAR BRAEM SHI7—LA
% 5 # 6 | BEET 1:17.8 5-6 nsg|l - 8 465 |ITEE (KH)
50| FYII7754 56.0 a1/ a | ViR
RIIART—=IVYF— B:HYISFa—FT« R -
tv 8 | REKE 1:17.9 4-4 01| - 2 502 | ELAAFE— (KFH)
15 4 jj\.b“/:u\:z‘“)b_l ) 56.0 1/2) W) |EBETF
AT T—IN B:NAvE—-UIIRb HBET7—L
160 3 | ZIW T« TS FERON M A (11:118/.22) 1516|402 — | 16 ?_331) Eﬁgéi KH)
R:N«A40 B:¥F/Y3UT RO%US
@ 1—F—&BIEL
13—7+—
20—7F—
30—F— 12,14,16,4,10,9,13,7,2,6,11,8,1,15,3,5
43—F— 12,14,16,4,9, (10,13),7, (2,11) ,6,1,8,15,5,3
[ BN
B s 2 140 | | DA R 2-15 3,520M % 3= 1-8 1,450 3EE 2-15-16 34,930
B B 2 120/ 2-16 7304 B 1-8 1,970 3&EE 2-15-16 120,780M4
15 2,490 15-16 14,800/ F5 E 2-15 8,300H
16 5504 =51 2-15 9,180H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




